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Hl e 9 23 3 1 36
% 25.0 63.9 8.3 2.8 100.0
gl 103 132 14 5 254
% 40.6 52.0 55 2.0 100.0
Hl e 67 79 10 3 159
% 421 497 6.3 1.9 100.0
Hl e 48 42 6 1 97
% 495 433 6.2 1.0 100.0
gl 102 17 9 4 232
% 440 50.4 3.9 1.7 100.0
gle 50 57 8 1 116
% 43.1 491 6.9 0.9 100.0
gl 65 114 15 2 196
% 33.2 58.2 7.7 1.0 100.0
gl 42 62 9 3 116
% 36.2 53.4 7.8 2.6 100.0
T 31 48 4 2 85
st % 36,5 56.5 4.7 24 100.0
- gl 13 13 26
% 50.0 50.0 100.0
gl 7 10 2 19
% 36.8 52.6 10.5 100.0
Hl L 6 8 1 15
% 40.0 53.3 6.7 100.0
Hl e 22 47 5 74
% 29.7 635 6.8 100.0
gl 45 96 4 145
% 31.0 66.2 28 100.0
Hl e 43 58 8 109
% 39.4 53.2 7.3 100.0
gl 91 89 7 2 189
% 48.1 471 37 1.1 100.0
gl 14 17 4 35
% 40.0 48.6 1.4 100.0
gl " 15 26
% 42.3 57.7 100.0
gl 769 1,027 109 24 1,929
% 39.9 53.2 5.7 1.2 100.0

_88_



CE 27> SHEAILEMIE] O] QJA}

i @ @ I = B

2 & of e | % mazr
o T 436 274 330
" % M9 263 317
= o1t HIE 410 203 276
% 461 28 310
N s 17 8 1
% 472 222 306
B S 116 71 67
e % 457 28.0 26.4
- T 64 44 51
SRR % 403 277 32,1
ST e b " ” "
% 454 227 320
=30l =-gutaat e 102 48 82
SA B % 44.0 20.7 35.3
=30 &-sutost s 39 28 49
=3 =AE % 33.6 24.1 42.2
eyt T 104 54 38
% 53.1 276 19.4
o = 61 25 30
Ml aperTEr % 526 216 259
MR By b " v ”
st % 400 224 376
O T 12 5 9
% 462 19.2 346
oFstoyat b 7 X 2
% 47.4 421 105
) T 5 5 5
aah b % 33 33 333
- e 33 18 23
BCEREE % 446 243 311
N T 68 31 16
% 469 214 317
— T 39 26 a4
ARt % 3538 239 404
I T 77 22 70
% 407 22 370
A9 Zate Hl 13 14 8
AZAS % 37.1 40.0 229
A BeE HE 9 9 8
2t 7| % 346 346 308
oA s 846 477 606
% 439 247 314
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<E 28> SPMAITHMIE] 0122 3| o 0l]
sgg | oo | 4 HERY
11210| HFS =50 drop =2 RELE 0| o=l
=+ = A ZE512| *rEE*EOI 24| S5 OT ALt o1 | ZIE A
OrOtA =] Z+2 @= THEd 24 A -
SO qroi | B | ator M o
xt HIE 153 14 60 11 31 1 4 274
A £t - % 55.8 5.1 21.9 40 1.3 0.4 15 100.0
c= ol HIE 82 9 44 11 40 17 203
% 40.4 4.4 217 5.4 19.7 8.4 100.0
HIE 4 2 2 8
7+S CHat
2 % 500 | 250 | 250 100.0
- HIE 43 3 13 2 8 2 71
% 60.6 42 18.3 28 1.3 28 100.0
HIE 25 1 7 3 b 2 44
L O{AHH 7} SFCHSH
ECEERR e % 56.8 2.3 15.9 6.8 13.6 45 100.0
HIE 12 5 2 1 1 1 22
=D AN IFSHOYSH
SECEERLE % 54.5 22.7 9.1 45 45 45 100.0
2510 &-Zatchst | HIE 30 3 6 6 2 1 48
SAE % 625 6.3 12.5 125 4.2 2.1 100.0
25t0)4-2tCysE | HIE 9 2 6 2 5 3 1 28
=30l = A E % 32.1 7.1 214 7.1 17.9 10.7 3.6 100.0
AP Y HIE 23 1 16 2 12 54
. % 42.6 1.9 29.6 3.7 22.2 100.0
o HIE 10 2 6 2 3 2 25
AFS| FSFCHSE
EEShE % 40.0 8.0 24.0 8.0 12.0 8.0 100.0
vwasyer | o | 0 L L 2 v
oyt % 31.6 5.3 5.3 10.5 47.4 100.0
- _ HIE 1 2 1 1 5
AO|7 St
ekl % 20.0 40.0 20.0 20.0 100.0
oFstryat Bz 5 1 1 1 8
ST % 62.5 125 12.5 125 100.0
Hl 3 1 1 5
o|1 St
<2 % 60.0 20.0 20.0 100.0
HIE 12 4 1 1 18
O| AHH T} SFCHSH
BECEERE % 66.7 222 5.6 5.6 100.0
N HIE 11 1 2 5 2 31
s % 35.5 35.5 65 16.1 65 100.0
B HIE 1 3 4 2 6 26
% 423 115 15.4 7.7 23.1 100.0
— HIE 21 4 12 3 1 1 42
B % 50.0 95 28.6 7.1 2.4 2.4 100.0
AtQH L5 HIE 7 2 1 3 1 14
AI=ZAE % 50.0 14.3 7.1 214 7.1 100.0
A9 -ZstE gl 2 6 1 9
AAA % 222 66.7 111 100.0
2 % HIE 235 23 104 22 71 18 4 477
- % 493 48 21.8 4.6 14.9 3.8 0.8 100.0
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<HE 29> Ak mg Hof
B = A ol |&tod | z| M 74 J= O|Ad
o % an eama 2a | ou | e | e | O WA
=¢ 5)

at HIZ [ 120 116 291 410 34 6 21 42 1,040
e - % | 15 | 112 | 280 | 394 | 33 0.6 20 40 | 1000
c= ot3t HIZ | 151 65 223 383 27 10 4 26 889
% 17.0 7.3 251 | 431 3.0 1.1 0.4 29 | 1000
_— HIE 6 2 13 10 3 2 36
K % 16.7 5.6 361 | 27.8 8.3 56 | 1000
S I |30 21 60 119 5 4 1 14 254
eenn % 1.8 8.3 236 | 469 2.0 1.6 0.4 55 | 100.0
| HIE 16 12 46 71 4 5 5 159
SBHBEHHE | o | 00 | 75 | 289 | 447 | 25 31 | 31 | 1000
HIE 14 7 21 47 4 1 1 2 97
SERSUNUN | o | 44 | 72 | 216 | 485 | 4 10 | 10 | 21 | 1000
S5t0)4-2atyst | HIE | 29 20 61 102 4 3 4 9 232
3sHAIE % 125 8.6 263 | 440 17 13 17 39 | 100.0
D304 Zatst | 2k 22 7 24 51 5 1 1 5 116
=80l &A 2 % 19.0 6.0 207 | 440 4.3 0.9 0.9 43 | 1000
Ape oyt HIE | 34 24 66 53 8 3 1 7 196
20T % 173 | 122 | 337 | 270 4.1 15 0.5 3.6 | 1000
JR— HIE 16 12 30 46 4 1 3 4 116
% 138 | 103 | 259 | 397 34 0.9 2.6 34 | 1000
JR— HI 12 6 24 35 3 2 3 85
st R 14.1 7.1 282 | 412 35 2.4 35 100.0
B ~oz0yat HIT 8 6 5 4 1 1 1 26
K % 308 | 231 192 | 154 38 3.8 3.8 | 1000
orstryat Bl 3 2 5 6 2 1 19
S % 158 | 105 | 263 | 31.6 10.5 53 | 100.0
. HIE 4 1 5 0 1 1 3 15
S % 26.7 6.7 333 0.0 6.7 6.7 20.0 | 100.0
N Ml 9 5 22 36 1 1 74
AU | o | 02 | 68 | 297 | 486 | 14 14 100.0
S HIT 19 15 27 74 3 1 6 145
-e % 13.1 103 | 186 | 510 2.1 0.7 4.1 100.0
— HIE 18 9 28 48 3 2 1 109
% 16.5 8.3 257 | 440 2.8 18 09 | 1000
— T |23 24 62 68 9 1 2 189
K % 122 | 127 | 328 | 360 48 0.5 1.1 100.0
29 25t HI T 6 4 11 11 1 2 35
IEAE % 17.1 114 314 314 2.9 5.7 100.0
AL ZEtH Bl 2 4 4 12 3 1 26
AAA B % 7.7 15.4 15.4 46.2 115 38 100.0
2 3 Bl [ 271 181 514 793 61 16 25 68 1,929
% 14.0 9.4 266 | 411 3.2 0.8 1.3 3.5 | 1000
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me [HEBAM sa | ome | Tt i
=+ = o A, M| o i o < 7|Et |
*OH_EI'- 7‘|A|' 5) oo oo (‘?‘E, E?_'—,
= e AERA S
Lt HIE 180 269 457 29 71 34 1,040
st = % 17.3 25.9 43.9 2.8 6.8 33 100.0
= otz HIE 161 346 285 7 78 12 889
% 18.1 38.9 32.1 0.8 8.8 1.3 100.0
I HIE 6 14 1 1 3 1 36
C=HE % 16.7 38.9 30.6 28 8.3 28 100.0
S HIE 40 73 110 2 19 10 254
ce % 15.7 28.7 433 0.8 75 3.9 100.0
HIE 22 48 71 3 11 4 159
L O{AHH 7} SFCHSH
SECERREE % 13.8 30.2 447 1.9 6.9 25 100.0
HIE 11 38 40 1 5 2 97
=D AN FSHOY S
SECEE LS % 11.3 39.2 12 1.0 52 2.1 100.0
25}0) & Z DTy EH HIE 33 75 99 3 15 7 232
SSAE % 14.2 323 427 1.3 65 30 100.0
2510 &-2atoyst HiE 21 48 28 2 14 3 116
2310 &4 < % 18.1 a4 24.1 17 12.1 2.6 100.0
- HIE 47 60 69 2 13 5 196
= % 24.0 30.6 35.2 1.0 6.6 2.6 100.0
HIE 25 32 43 4 11 1 116
AFS| OFSFCHSE
Fel-ertE % 21.6 27.6 37.1 34 95 0.9 100.0
JRE— HIE 15 27 34 1 5 3 85
oyt % 17.6 318 40.0 12 5.9 35 100.0
- HIE 11 10 2 3 26
A o| ItCH&¢ =
e % 423 385 7.7 1.5 100.0
S HIE 5 6 6 1 1 19
ST % 26.3 31.6 31.6 5.3 5.3 100.0
HIE 5 6 2 1 1 15
ol St
Sakk % 33.3 40.0 13.3 6.7 6.7 100.0
HlE 13 24 36 2 5 1 74
O| A H 1ISHCH Sk
BEEERRE % 8.1 324 48.6 2.7 6.8 1.4 100.0
S HIE 33 40 53 4 1 4 145
e % 22.8 27.6 36.6 28 76 28 100.0
B— HIE 17 40 35 1 15 1 109
ST % 15.6 36.7 32.1 0.9 13.8 0.9 100.0
— HIE 32 52 82 10 12 1 189
- % 16.9 27.5 43.4 5.3 6.3 05 100.0
2t Zste Bl 3 12 16 4 35
A=ZAZE % 8.6 34.3 457 11.4 100.0
A9 Z5kH "z 9 10 5 1 1 26
A AL % 34.6 385 19.2 38 38 100.0
3 3 HIC 341 615 742 36 149 46 1,929
% 17.7 31.9 385 19 7.7 2.4 100.0
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o it et Aoy |srsBe neEM BEoY| |
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. HI T 408 204 328 501 577 42 20 | 1,040
A % 39.2 19.6 315 48.2 55.5 4.0 1.9 | 200.0
= o1t HIE 242 230 351 384 538 28 5 889
% 27.2 25.9 395 43.2 60.5 3.1 0.6 | 200.0
- HIE 13 11 13 15 16 2 2 36
% 36.1 30.6 36.1 417 44.4 5.6 5.6 | 200.0
— HIE 86 39 81 126 165 8 3 254
e % 33.9 15.4 31.9 49.6 65.0 3.1 1.2 | 2000
I Ml 50 40 48 77 92 10 1 159
EEEERE R 314 | 252 | 302 | 484 | 579 6.3 06 | 2000
— CIi= 35 15 34 38 67 2 3 97
sELBANAR | 361 | 155 | 351 | 392 | 69.1 2.1 31| 2000
D304 2aths | ElIE 88 55 58 112 139 9 3 232
SHAZE % 37.9 23.7 25.0 483 59.9 39 1.3 | 200.0
250 &-Zattist | 2k 28 25 60 38 71 6 4 116
=ot0l=A g % 24.1 21.6 51.7 328 61.2 5.2 34 | 2000
- HI T 73 50 77 103 85 4 196
% 37.2 25.5 39.3 52.6 43.4 2.0 200.0
J— HIT 33 28 42 52 72 5 116
% 28.4 24.1 36.2 44.8 62.1 4.3 200.0
R HI 32 15 32 36 51 2 2 85
oyt % 37.6 17.6 37.6 42.4 60.0 2.4 2.4 | 2000
- JUSE. ol 13 13 15 b 4 1 26
% 50.0 50.0 57.7 23.1 15.4 3.8 | 200.0
- HIT 9 5 6 7 10 1 19
% 47.4 26.3 31.6 36.8 52.6 5.3 | 200.0
o zfcyat M 8 4 7 5 3 2 1 15
% 53.3 26.7 46.7 33.3 20.0 13.3 6.7 | 200.0
— HIE 20 18 23 36 47 3 1 74
segasE 270 | 243 | 311 | 486 | 635 41 14| 2000
N Ml 43 45 51 57 87 5 2 145
K % 29.7 31.0 35.2 39.3 60.0 3.4 1.4 | 2000
— HIT 34 32 41 46 62 3 109
% 31.2 29.4 37.6 42.2 56.9 2.8 200.0
— HI T 62 31 71 101 106 7 189
% 32.8 16.4 37.6 53.4 56.1 3.7 200.0
A9 -Zste HiE 14 6 9 17 23 1 35
AZAE % 40.0 17.1 25.7 48.6 65.7 2.9 | 2000
QM 2Et HI 9 2 11 13 15 2 26
AAAZE % 34.6 7.7 42.3 50.0 57.7 7.7 200.0
2 3 HIE 650 434 679 885 | 1,115 70 25 | 1,929
% 33.7 22.5 35.2 45.9 57.8 3.6 1.3 | 200.0
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<H 32> 22 g

S

paker 1 = O| SFAF - A
R R
HIE 293 353 250 124 20 | 1,040 25
A4 1 % 28.2 33.9 24.0 11.9 1.9 | 100.0
c= HI T 196 342 219 101 31 889 23
% 22.0 385 24.6 11.4 3.5 | 100.0
HI 8 16 8 4 36 22
% 22.2 44.4 22.2 11.1 100.0
Hl T 74 88 61 20 11 254 224
% 29.1 34.6 24.0 7.9 4.3 | 100.0
HI T 52 55 37 13 2 159 1
% 32.7 34.6 23.3 8.2 1.3 | 100.0
HI T 27 31 25 12 2 97 229
% 27.8 32.0 25.8 12.4 2.1 | 100.0
HI g 65 77 62 19 9 232 227
% 28.0 33.2 26.7 8.2 3.9 | 1000
HI T 28 38 32 17 1 116 )35
% 24.1 32.8 27.6 14.7 0.9 | 100.0
HI T 50 80 38 21 7 196 226
% 255 40.8 19.4 10.7 3.6 | 100.0
HI T 27 41 24 21 3 116 241
% 23.3 35.3 20.7 18.1 2.6 | 100.0
HI T 21 34 20 8 2 85 )5
. % 24.7 40.0 23.5 9.4 2.4 | 100.0
- Ml 5 10 6 4 1 26
2.46
% 19.2 385 23.1 15.4 3.8 | 100.0
HI T 5 8 5 1 19 11
% 26.3 42.1 26.3 5.3 100.0
HI & 4 7 3 1 15
2.07
% 26.7 46.7 20.0 6.7 100.0
HI T 22 25 16 10 1 74 223
% 29.7 33.8 21.6 13.5 1.4 | 100.0
HI T 25 48 42 26 4 145 )56
% 17.2 33.1 29.0 17.9 2.8 | 100.0
HI T 21 42 25 16 5 109 247
% 19.3 385 22.9 14.7 4.6 | 100.0
HI T 44 67 53 22 3 189 233
% 23.3 35.4 28.0 11.6 1.6 | 100.0
HI g 5 13 8 9 35 2 40
% 14.3 37.1 22.9 25.7 100.0
Hl T 6 15 4 1 26 200
% 23.1 57.7 15.4 38 100.0
HI 489 695 469 225 51 | 1,929 230
% 25.3 36.0 24.3 11.7 2.6 | 100.0
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Hs | 7B Az Y B e
+ e ot | 2z || ey | gye | A (124-53)
HIE 387 308 223 103 19 | 1,040
LR} 2.10
o % 37.2 29.6 21.4 9.9 1.8 | 100.0
c= HIE 208 334 196 117 34 889
of &} 2.36
% 23.4 37.6 22.0 13.2 3.8 | 100.0
HIE 9 17 4 1
{tsoyst > 36 2.22
% 25.0 47.2 11.1 13.9 2.8 | 100.0
HIE 89 85 47 28 5 254
Ag et 211
% 35.0 33.5 185 11.0 2.0 | 1000
HI 59 51 41 6 2 159
Lol MO TS kOl St 2.00
SECEERR % 37.1 32.1 25.8 3.8 1.3 | 100.0
HI 30 34 15 14 4 97
S S A sk &t 2.26
SECEERR % 30.9 35.1 155 14.4 4.1 | 1000
25104 2OpORE | T 89 61 51 25 6 232 13
ZatA % 38.4 263 22.0 10.8 2.6 | 100.0 '
25104 2OIORE | T 34 32 27 19 4 116 .
2504 H4 Y % 29.3 27.6 23.3 16.4 3.4 | 100.0 '
= 66 64 40 21 5 196
b ct 2.16
% 33.7 32.7 20.4 10.7 2.6 | 100.0
R HIE 27 47 24 12 6 116 534
B % 233 405 20.7 10.3 5.2 | 100.0 '
|
J— = 28 30 16 1 85 )12
. % 32.9 35.3 18.8 12.9 100.0
- HIE 8 8 6 3 1 26
40| IpCH 2.27
el % 30.8 30.8 23.1 115 3.8 | 100.0
orstryat HIE 6 9 2 1 1 19 205
% 31.6 47.4 105 5.3 5.3 | 100.0
HI 8 4 2 1 15
o| JfrHEk 1.73
mak % 53.3 26.7 13.3 6.7 100.0
SRS = 23 28 14 9 74 510
eoem A % 31.1 37.8 18.9 12.2 100.0 '
_ HI T 29 50 42 19 5 145
o2 oy3t 2.46
% 20.0 345 29.0 13.1 3.4 | 100.0
= 22 39 28 17 3 109
211 arstoy st 2.45
% 202 35.8 25.7 15.6 2.8 | 100.0
. HI T 57 57 45 22 8 189
ITChst 2.30
% 30.2 30.2 23.8 11.6 42 | 100.0
QM Zate HI 6 13 9 5 2 35 554
o2 % 17.1 37.1 25.7 14.3 5.7 | 100.0 '
29 Zste HIE 5 13 6 2 26 519
At A % 19.2 50.0 23.1 7.7 100.0 '
_ HIE 9 42 419 22 1,929
M A A . . 2.22
% 30.8 33.3 21.7 11.4 2.7 | 100.0
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A2y HE AxE 7 By . g4+
A
amc | oot | amo | ame | o (13~5%)
HI T 278 200 28 11 | 1,040 |78
% 26.7 19.2 2.7 1.1 | 100.0 '
‘48
HIE 299 191 46 3 889 103
% 33.6 21.5 5.2 0.3 | 100.0 '
HIE 8 6 3 36 /81
% 22.2 16.7 8.3 100.0 '
HI g 74 49 8 6 254 | 87
% 29.1 19.3 3.1 2.4 | 100.0 '
HIE 42 30 6 2 159 /81
% 26.4 18.9 38 1.3 | 100.0 '
HI 33 18 3 97
1.80
% 34.0 18.6 3.1 100.0
HI T 59 53 9 232 183
% 25.4 22.8 3.9 100.0 '
HI T 33 19 8 116
1.82
% 28.4 16.4 6.9 100.0
HIE 51 37 8 196 176
% 26.0 18.9 4.1 100.0 '
HIE 42 27 3 116 191
% 36.2 23.3 2.6 100.0 '
HIE 29 16 85
1.72
o % 34.1 18.8 100.0
- HlE b 5 1 26
1.73
% 23.1 19.2 3.8 100.0
HIE 7 3 19
1.68
% 36.8 15.8 100.0
HIE 6 1 15
1.53
% 40.0 6.7 100.0
HI T 27 18 4 74
2.01
% 36.5 24.3 5.4 100.0
HI T 46 35 7 145
1.94
% 31.7 24.1 48 100.0
HIE 37 21 5 1 109 190
% 33.9 19.3 4.6 0.9 | 100.0 '
HIE 61 38 9 4 189 195
% 32.3 20.1 48 2.1 | 100.0 '
HI G 10 8 1 35
1.86
% 28.6 22.9 2.9 | 100.0
HI T 6 7 26
1.77
% 23.1 26.9 100.0
HI T 577 391 74 14 | 1,929 |85
% 29.9 20.3 3.8 0.7 | 100.0 '
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45 o = o| BFAf 2 A
G| ame RO gun hant AN 4G
H T 361 281 252 129 17 1,040 219
b % 347 27.0 242 12.4 1.6 100.0
°= Hl 220 287 209 140 33 889 5 41
% 24.7 32.3 235 15.7 3.7 | 100.0
Hle 9 16 9 2 36 511
% 25.0 44.4 25.0 5.6 100.0
Hl 100 65 59 24 6 254 210
% 394 25.6 23.2 94 2.4 | 100.0
Hl 57 42 42 14 4 159 216
% 35.8 26.4 26.4 8.8 25 | 100.0
HI L 34 27 20 14 2 97 221
% 35.1 27.8 20.6 14.4 2.1 100.0
Hl 79 63 56 31 3 232 221
% 34.1 27.2 241 13.4 1.3 100.0
H e 34 38 21 16 7 116 234
% 29.3 328 18.1 13.8 6.0 | 100.0
Hl 62 60 36 33 5 196 228
% 31.6 30.6 18.4 16.8 2.6 100.0
Hl 25 42 24 22 3 116 245
% 21.6 36.2 20.7 19.0 2.6 | 100.0
H L 27 28 20 8 2 85 218
st % 31.8 32.9 235 9.4 2.4 | 100.0
- Hl 8 4 8 5 1 26 250
% 30.8 15.4 30.8 19.2 3.8 | 100.0
Hl 6 9 3 1 19 195
% 31.6 47.4 15.8 5.3 100.0
Hl 7 4 3 1 15 187
% 46.7 26.7 20.0 6.7 100.0
Hl 21 25 18 9 1 74 224
% 284 338 243 12.2 1.4 | 100.0
H e 32 44 41 22 6 145 249
% 22.1 30.3 28.3 15.2 4.1 100.0
HlE 21 32 28 24 4 109 2 61
% 19.3 29.4 25.7 22.0 3.7 100.0
Hl 48 47 52 37 5 189 2 49
% 25.4 249 275 19.6 2.6 100.0
H e 6 12 11 5 1 35 551
% 171 34.3 314 143 2.9 100.0
Hl 5 10 10 1 26
2.27
% 19.2 38.5 38.5 3.8 100.0
Hl 581 568 461 269 50 1,929 229
% 30.1 29.4 23.9 13.9 2.6 100.0
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<H 36> AOIE

HRE A S

L
T'_<—>41||—_|-|- _I'_t_)11||'_|-|- so|Ct 2207t T'_;I1[|:l-|' A (14 ~52
HA HA %q AN
HIE 191 272 345 214 18 | 1,040 »
pepe % 18.4 26.2 33.2 20.6 1.7 | 100.0 '
c= HIE 132 221 277 218 41 889 279
% 14.8 24.9 31.2 24.5 4.6 | 1000 '
HI 4 9 12 9 2 36 >89
% 11.1 25.0 33.3 25.0 5.6 | 100.0 '
HIE 55 66 74 51 8 254 )57
% 21.7 26.0 29.1 20.1 3.1 | 1000 '
HIE 29 34 53 39 4 159 277
% 18.2 21.4 33.3 24.5 2.5 | 100.0 '
HIE 16 25 31 23 2 97 2 69
% 16.5 25.8 32.0 23.7 2.1 | 1000 '
HIE 35 51 87 51 8 232
% 15.1 22.0 37.5 22.0 3.4 | 1000 277
HIE 27 28 36 22 3 116 3
% 23.3 24.1 31.0 19.0 2.6 | 100.0 25
HIE 39 71 52 28 6 196 5 a4
% 19.9 36.2 26.5 14.3 3.1 | 1000 '
HIE 14 25 34 37 6 116 997
% 12.1 21.6 29.3 31.9 5.2 | 100.0 '
HIE 13 20 27 22 3 85 579
o % 15.3 23.5 31.8 25.9 35 | 1000 '
- HIE 3 8 11 4 26 242
% 115 30.8 42.3 15.4 100.0
HIE 6 6 6 1 19 ” 11
% 31.6 31.6 31.6 5.3 100.0 '
HIE 4 5 1 5 15 247
% 26.7 33.3 6.7 33.3 100.0
HIE 12 20 24 17 1 74 -
% 16.2 27.0 32.4 23.0 1.4 | 100.0 '
HIE 16 35 50 39 5 145 588
% 11.0 24.1 34.5 26.9 3.4 | 1000 '
HIE 12 25 44 24 4 109 > 84
% 11.0 22.9 40.4 22.0 3.7 | 100.0 '
HIE 29 53 56 48 3 189 570
% 15.3 28.0 29.6 25.4 1.6 | 100.0 '
HIE 5 7 13 8 2 35
% 14.3 20.0 37.1 22.9 5.7 | 100.0 286
HIE 4 5 11 4 2 26
% 15.4 19.2 42.3 15.4 7.7 | 100.0 281
HI 323 493 622 432 59 | 1,929 5 60
% 16.7 25.6 32.2 22.4 3.1 | 1000 '
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L
w3 | 4= e ooe .
=} D7 DH 7 £0 © =yl 24z =l ar
o= _mﬂ i _mﬂ f 280\t 227} _Olﬂ f 2| (12 ~521)
HAE‘I- qu' Olr—l' Mq
I:||E
. ] 632 236 137 28 7 | 1,040 1 60
Ad e % 60.8 22.7 13.2 2.7 0.7 | 100.0
o= H'
otz H| = 522 212 113 37 5 889 ”
% 58.7 238 12.7 42 0.6 | 100.0
] HI T 19 12 2 2 1 36
7t5 st 1.72
= % 528 | 333 56 5.6 28 | 1000
H|£
S S| 153 54 33 12 2 254 165
% 60.2 21.3 13.0 4.7 0.8 | 100.0
o HIE 101 34 19 5 159
L AAH IS SH 1
ECERERE % 635 214 11.9 3.1 100.0 93
o HIE 59 22 11 3 2 97
S S pEHI ¢ 1.
SEEEERRE % 60.8 227 1.3 3.1 2.1 | 1000 63
2510 &-ZatOysr | HIE 139 55 33 4 1 232 1 59
ZatA % 59.9 23.7 142 17 0.4 | 1000 '
25t0 & Zatoyst | HIZ 69 29 15 3 116 1 5
25t0)&A Y % 59.5 25.0 12.9 2.6 100.0 '
I:||E
ApATHE S| 110 47 26 11 2 196 -
% 56.1 24.0 13.3 5.6 1.0 | 100.0
o HI T 64 32 16 3 1 116
AHE| apskoy st = 1.66
EEER % 55.2 27.6 13.8 2.6 0.9 | 100.0
) HI T 56 20 b 3 85
At 3h7 apskoy &t 1.48
chat S % 65.9 235 7.1 35 100.0
- HIE 12 5 9 26
A O| IFCHSH =
ol % 462 19.2 34.6 100.0 1.88
HI D 7 9 2 1 19
okstOst P 1.84
i % 36.8 47.4 105 5.3 100.0
) HIE 12 2 1 15
o|atcyak 1.27
Bkl % 80.0 13.3 6.7 100.0
Hl L 36 19 12 7 74
O| AW TpsHCHSh 1.86
RCEERE % 48.6 25.7 16.2 95 100.0
] HIE 90 31 21 3 145
ol =rH5t =
tE % 62.1 21.4 14.5 2.1 100.0 1.57
I 59 27 21 2 109
A apstoyst - 1.69
EEEE % 54.1 248 19.3 1.8 100.0 é
) HIE 129 36 18 4 2 189
St 49
[T % 68.3 19.0 95 2.1 1.1 | 100.0 14
M gty HIE 26 7 1 1 35 '3
o2 A % 743 20.0 29 2.9 | 100.0 '
ARUBsAE | HE 13 7 4 2 26 181
A A % 50.0 26.9 15.4 7.7 100.0 '
H]|
2 3 | 1,154 448 250 65 12 | 1,929 162
% 59.8 232 13.0 3.4 0.6 | 100.0
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<H 38> ZELHM9Z Ol L= Al2jd ofzL

35 CHj| 2
- ojzigg ozrge O 3F U L y 4
. Lz L[z oHES | o3eS | HA (12-5%
. . Ltk | Lyt
H]|
. 5 467 388 170 15 1,040 174
. % 449 37.3 16.3 1.4 | 100.0
o= HI
o1zt H| 270 425 178 16 889 193
% 30.4 478 20.0 1.8 | 100.0
HIE 10 18 7 1 36
— 2! 1.97
e % 278 50.0 19.4 28 | 1000
I 108 100 42 4 254
74 CHSF = 1.77
S M= % 425 394 16.5 1.6 100.0
HIE 76 61 22 159
L Oi AW JFSFCHSF 1.66
SECEEERE % 478 384 13.8 100.0
HI D 46 39 10 2 97
= S AN JFSHOHSH = 1.67
SRR % 47.4 402 10.3 2.1 | 1000 é
2510 &z utost HIE 85 103 42 2 232 |83
ZaAY % 36.6 44.4 18.1 09 | 1000 '
2.510)| & -ZI}CH 5! HI 34 53 26 3 116 | o8
25104 H4 Y % 29.3 457 224 2.6 | 100.0 '
HIE 87 74 32 3 196
ApH ChEE = 1.75
R % 44.4 37.8 16.3 15 | 100.0
HIE 36 52 25 3 116
A3| TpatTh st = 1.96
EEEEE % 31.0 448 21.6 2.6 | 100.0
HIE 31 32 20 2 85
sgEasts | © 1.92
it Saeit % 36.5 37.6 23.5 2.4 | 1000
- HI 10 14 2 26
A O| TFCHSF 1.69
ol % 38.5 53.8 7.7 100.0
HIE 12 4 3 19
OF5}LY S} = 1.53
i % 63.2 21.1 15.8 100.0
HIE 5 9 1 15
o|7 Sk = 1.80
S % 33.3 60.0 6.7 | 100.0
I 22 35 15 2 74
O| AHTH TS HCH S 1.96
BCEERRE % 29.7 47.3 20.3 2.7 100.0
HI 39 65 36 5 145
ol 25t 2.05
i % 269 448 248 34| 1000
HIE 29 54 24 2 109
AA SO SF = 1.99
EEREE % 26.6 495 22.0 1.8 | 100.0
HI D 83 74 31 1 189
s ! 1.74
ITEH % 439 392 16.4 0.5 | 100.0
Ao Zate I 12 16 7 35 1 8%
o2 AN % 34.3 45.7 20.0 100.0 '
A E HlE 12 10 4 26 1 49
2 A % 462 385 15.4 100.0 '
H]|
21 T 737 813 348 31 1,929 |83
% 38.2 42.1 18.0 1.6 | 100.0
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<H 39> TRLIE 9I5| oS L= ¥y
oo s K EREA s
T =, o|7r:|_l_71 A|-9—IA(|)‘19é]-: ol 7411 Z4 °—|FE
= |:|7 =L [y . | StE= = o | = = O 0ok
AEYA T &4 TS = Ast
o3
H|
it | 25 a1 82 5 6 25
. % 135 | 222 | 443 2.7 3.2 135
= - HIE 46 21 74 9 7 36
% 23.7 108 | 38.1 4.6 3.6 18.6
B 2 4 1 1
7+S CHSH
2o % 250 | 500 | 125 125
oist HI T 11 5 21 4 5
% 23.9 109 | 457 8.7 10.9
HIE 2 5 9 2 4
L1 AHH 7}SHFCHSH
SECERRRE % 9.1 227 | 409 9.1 18.2
HI T 1 1 6 2 2
= DA H FSHOH S
SECERRRE % 8.3 83| 500 167 | 167
=310 & S0t gl 5 " 19 9
ZEHAY % 114 250 | 432 20.5
=20 = g2t st gl 6 5 13 2 3
250 &A= % 20.7 172 | 448 6.9 10.3
H|
. H| 9 1 13 2 1 9
% 25.7 29 37.1 5.7 29 25.7
HIE 11 5 5 2 2 2
AbS| 2SO SH
EEREE % 393 17.9 17.9 7.1 7.1 7.1
R L 4 A A . ;
oyt % 136 | 227 | 409 45 18.2
- HIE 2 0
4 o IFCHE}
oL % 100.0 0.0
oFercer o . 1
% 66.7 33.3
HI T 1
o|7 St
A % 100.0
HI T 3 2 11 1
O|AHCH TItSFCHSH
BCEREERE % 17.6 11.8 64.7 5.9
olzryst HI 9 4 18 1 3 5
% 22.0 98 | 439 24 7.3 12.2
HIE 5 7 8 1 5
AFA s sk
SRR % 192 | 269 30.8 38 19.2
HIE 3 6 12 3 8
ITCHSk
i % 9.4 188 | 375 94 | 250
HI T 1 2 2 2
RO Z2{LEtH o4
IREEEE AEAS % 143 | 286 | 286 28.6
HIE 1 3
ALO 2 DskE 2 AHH
RS FAAE % 250 75.0
4 HI 71 62 156 14 13 61
= % 18.7 164 | 412 37 34 16.1
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ox
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36
31.0
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30.6

17
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26
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HIE
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1.5
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HIE
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36.8
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HIE
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HIE
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36
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102 77
9.8 74
66 103
7.4 11.6
6 4
16.7 11.1
24 20
9.4 7.9
11 11
6.9 6.9
5 12
5.2 12.4
23 30
9.9 12.9
8 6
6.9 5.2
14 16
7.1 8.2
9 8
7.8 6.9
10 6
11.8 7.1
2 7
7.7 269
1 1
6.7 6.7
10 4
13.5 54
8 16
55 11.0
14 13
12.8 11.9
18 19
95 10.1
2 3
5.7 8.6
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11.5 15.4
168 180
8.7 93
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502
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<H 42> 5IF BT skGAIL!
1A|Z_k 2A|?_k 3A|Z_I-
T & 1A|ZF D|BE| O|44~2A] 7 | O|44~3A|7F | O|4f~4A|ZH| 4A|ZF Of4F | %]
oj gk oj gk ojgk
it HI 346 389 196 61 48 1,040
e - % 333 37.4 18.8 5.9 46 | 1000
= of 3t B 334 298 161 68 28 889
% 37.6 335 18.1 7.6 3.1 100.0
I I 11 11 8 5 1 36
= % 30.6 30.6 222 13.9 2.8 100.0
- HI 78 90 55 19 12 254
ee % 30.7 35.4 21.7 75 47 100.0
HI 51 61 29 8 10 159
L1 AHOH J1}SFCHSFH
SECEEERE % 32.1 38.4 18.2 5.0 6.3 100.0
HI D 27 39 20 11 97
= DA H FSHOH S
SECERRRE % 27.8 402 20.6 113 100.0
2510j| & Z 0ty 5H HIE 84 84 43 15 6 232
2k % 36.2 36.2 185 65 2.6 100.0
2510)| & 2Dyt HI 59 35 15 3 4 116
2502 A Y % 50.9 30.2 12.9 2.6 3.4 100.0
Apscyat HI 64 82 35 9 6 196
% 32.7 418 17.9 4.6 3.1 100.0
HI 47 39 18 6 6 116
Abs| SO Sk
EERR % 405 33.6 15.5 5.2 5.2 100.0
R — = 24 40 17 2 2 85
oyt ceEEem AT % 28.2 47.1 20.0 2.4 2.4 100.0
- HIT 12 6 3 2 3 26
A O| IFCHSH
A % 462 23.1 115 7.7 115 100.0
- HI 3 5 2 4 5 19
oo % 15.8 263 105 21.1 263 100.0
HI 10 4 1 15
ol Sk
AT % 66.7 26.7 6.7 100.0
= 23 27 13 8 3 74
O|AHCH TItSFCHSH
BLEREREE % 31.1 36.5 17.6 10.8 4.1 100.0
olsryat HI 54 46 28 11 6 145
e % 37.2 31.7 19.3 7.6 4.1 100.0
S I 53 31 14 7 4 109
s % 48.6 28.4 12.8 6.4 3.7 100.0
— HI 59 63 43 18 6 189
% 31.2 33.3 228 95 3.2 100.0
= 11 16 6 1 1 35
A OZ-I-?-%I-_EI_ ?_I—E— [eZ]
IREE A3 % 31.4 45.7 17.1 29 2.9 100.0
= 10 8 8 26
z OZ-|__M_6|-_I?I_ e ﬁ (o]
IRUSeE AAAS % 38.5 30.8 30.8 100.0
2 3 HI T 680 687 357 129 76 1,929
= % 35.3 35.6 18.5 6.7 3.9 100.0
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<H 43> A2]of| Ofsf dH& ot X|Zst= H
1 & S | 137 |amog| axey | M | ay B E
= %z >, |E80 a% A iy
or o ° a#ct IS5
I:I|E
at fs 93 201 363 242 141 | 1,040 313
. % 8.9 19.3 34.9 23.3 13.6 | 100.0
o= HlE
- H| 93 275 379 114 28 889 247
% 10.5 30.9 42.6 12.8 3.1 | 1000
I 3 9 13 8 3 36
7ts st 297
= % 83| 250 | 361 | 222 83 | 100.0
H|
HoiTyst H| 29 66 89 40 30 254 201
% 114 26.0 35.0 15.7 11.8 | 100.0
HIE 17 33 61 39 9 159
Lol A kLl &F = 2.94
ECEEER % 10.7 20.8 38.4 24.5 57 | 100.0
N HIE 8 29 36 20 4 97
S oM aFstat 2.82
SECERRR % 8.2 29.9 37.1 20.6 4.1 100.0
2 50| &2 0I5 HlE 18 50 98 37 29 232
3.04
ZakA % 78 21.6 422 15.9 125 | 1000
2510|223 HIE 15 28 47 21 5 116
2.77
25t aA = % 12.9 24.1 405 18.1 43| 1000
HIE 10 43 84 42 17 196
Ari st - 07
ER % 5.1 219 429 214 87 | 1000 30
o HIE 12 34 38 24 8 116
AFS| 1 6_|F 3_||' 2.84
Fel =i % 10.3 293 32.8 20.7 69 | 1000
HIE 9 22 34 12 8 85
AbEl3p74 FskO&F = 2.
chat CRRR % 10.6 25.9 40.0 14.1 9.4 | 100.0 86
) HIE 8 2 7 6 3 26
4 O| IpCh 5t 2.77
ol % 30.8 7.7 269 23.1 115 | 1000
o HIE 3 6 7 3 19
kst 5t 3.53
H % 15.8 31.6 36.8 15.8 | 100.0
HIE 2 2 5 4 2 15
o| mtcy st 3.13
Bk % 13.3 13.3 333 26.7 13.3 | 100.0
I 5 24 32 11 2 74
O| AW &L SF
BCEREERE % 6.8 32.4 432 14.9 27 | 1000 2.74
HIE 15 39 56 24 11 145
ol2Cl&t = 2.84
H % 10.3 26.9 38.6 16.6 7.6 | 100.0
HIE 10 33 45 14 7 109
AtA stk = 2.77
EERE % 92 30.3 413 12.8 6.4 | 1000
H|
— H| 19 45 b6 36 23 189 299
% 10.1 238 34.9 19.0 122 | 100.0
) HIE 3 9 16 3 4 35
ARUBSHE A RAY 2.89
IHS Ae % 8.6 25.7 457 8.6 114 | 1000 8
) HIE 3 5 9 8 1 26
QA LEHHE AP H|H 2.96
IHe Faze % 115 19.2 34.6 30.8 38 | 1000
H
21 H| 186 476 742 356 169 | 1,929 29
% 9.6 24.7 385 185 88 | 1000
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<H 44> WA FU AR 20| "SR] 2 7HE A PE S GFH0AL AMeie

Z 0:1
= =z 1T Ke) _
2 & e A T UL e L i e
?%I' LS S
it HI o 237 215 330 165 93 1,040
e i % 22.8 207 317 15.9 8.9 100.0
= of 3t B 162 246 215 165 101 889
% 18.2 27.7 242 18.6 1.4 100.0
— HI 9 10 6 9 2 36
= - % 25.0 27.8 16.7 25.0 5.6 100.0
I HIE 62 60 70 37 25 254
% 24.4 23.6 27.6 14.6 9.8 100.0
HIC 26 32 58 29 14 159
L1 AHOH 1}SFCHSFH
SECEEERE % 16.4 20.1 36.5 18.2 8.8 100.0
Bl 18 37 24 9 9 97
= S A OtSHOW S
SEEEERR L % 18.6 38.1 24.7 9.3 9.3 100.0
2510)| & 2Dy 5t HI D 50 64 56 39 23 232
2EHA S % 21.6 27.6 24.1 16.8 9.9 100.0
2510)| & Z D)5t HIE 23 28 32 19 14 116
251024 % 19.8 24.1 27.6 16.4 12.1 100.0
Aty at HIC 37 39 58 39 23 196
% 18.9 19.9 29.6 19.9 1.7 100.0
HIC 23 27 30 23 13 116
Abs| SO SH
EERR % 19.8 23.3 25.9 19.8 1.2 100.0
S —— E.'_IOE 16 20 25 14 10 85
s} % 18.8 235 294 16.5 1.8 100.0
B HIE 6 7 5 8 26
A O| IS
A % 23.1 269 19.2 308 100.0
orsiryat HIE 5 5 5 2 2 19
R % 263 263 263 105 10.5 100.0
HIC 5 3 6 1 15
o|7l St
AT % 333 20.0 40.0 6.7 100.0
HIE 23 14 16 13 8 74
O|AHCH TItSFCHSH
BLERERE % 31.1 18.9 21.6 17.6 10.8 100.0
. HIE 19 30 49 29 18 145
e % 13.1 20.7 338 20.0 12.4 100.0
S BT 23 24 32 18 12 109
s % 21.1 22.0 294 16.5 11.0 100.0
— HIC 41 48 55 30 15 189
- % 21.7 254 29.1 15.9 7.9 100.0
HIE 7 8 10 7 3 35
R OZ-I-?-%I-_EI_ ?_I—E‘ [eZ]
MREEs A3 % 20.0 22.9 28.6 20.0 8.6 100.0
HIE 6 5 8 4 3 26
AHQ M ZEHE 21 A Y
IRUSsE AAAS % 23.1 19.2 30.8 15.4 115 100.0
HI T 399 461 545 330 194 1,929
% 20.7 23.9 28.3 17.1 10.1 100.0
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<E 45> YHOSDRY HEAIPHBH olYTF'| WRAO| Tt 14

Rk
= =z 1] Ke) _
2 & agx | 2l e | aze | T wy
?%I' LS S
3y HIE 96 90 312 328 214 1,040
A4 e % 9.2 8.7 30.0 315 20.6 100.0
c= of 2t HIE 10 28 153 308 390 889
% 1.1 3.1 17.2 34.6 43.9 100.0
I HIE 1 2 9 13 11 36
(s ojf =
% 2.8 5.6 25.0 36.1 30.6 100.0
- HIE 18 14 57 76 89 254
% 7.1 5.5 22.4 29.9 35.0 100.0
HIE 3 8 54 50 44 159
L O{ AHOH TIFSFOHSF =
SECERRRE % 1.9 5.0 34.0 31.4 27.7 100.0
HIE 4 12 15 36 30 97
= DA OFSHOHSF
SECERRRE % 4.1 12.4 15.5 37.1 30.9 100.0
=510l &-Z st HI 13 16 65 81 57 232
ZaA % 5.6 6.9 28.0 34.9 24.6 100.0
=310 & St HlE 3 5 29 34 45 116
250 aA = % 2.6 43 25.0 29.3 38.8 100.0
. HIE 6 10 35 69 76 196
= % 3.1 5.1 17.9 35.2 38.8 100.0
HIE 5 6 19 45 a1 116
Abs| 2FsCH Sk
EERR % 43 5.2 16.4 38.8 35.3 100.0
- HIE 3 4 18 34 26 85
st meEsemm % 35 4.7 21.2 40.0 30.6 100.0
- HIE 4 4 4 10 4 26
A o| sk =
oL % 15.4 15.4 15.4 385 15.4 100.0
_— HIE 2 2 4 9 2 19
oo % 10.5 10.5 21.1 474 10.5 100.0
HIE 4 2 5 4 15
o|1FCHEH =
S % 26.7 13.3 33.3 26.7 100.0
I 4 4 17 23 26 74
O| A TH ST &F
BCEREERE % 5.4 5.4 23.0 31.1 35.1 100.0
olsryat I 7 4 36 38 60 145
== % 48 28 24.8 26.2 AW 100.0
O HIE 9 7 33 34 26 109
R % 83 6.4 30.3 31.2 23.9 100.0
_— HIE 19 13 47 60 50 189
- % 10.1 6.9 24.9 31.7 265 100.0
I 4 11 12 8 35
e OZ-|13I-I:I O|_l?_ o]
IREEEE AEAS % 114 31.4 343 229 100.0
I 1 3 10 7 5 26
ALO 2 ZEHE A AH
IREEEE AAAS % 38 115 38.5 269 19.2 100.0
2 3 I 106 118 465 636 604 1,929
% 5.5 6.1 24.1 33.0 31.3 100.0
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<H 46> FEsIA| G2 LA == EUS 72 4% UHSUHHESE)
&ty
AOoA | . o SEI|E
- gazre | OTLHH oiauens
o o B35 £l £3 2%
q_ — |_-|O_|7|.q ?_Ol'J_’ A }‘HU.T’_I' OOH i) “
= AtIHE ;Qj’;;q =R
275t em= A S
=

at HIE 602 966 344 168 1,040
st % 57.9 92.9 33.1 16.2 200.0
c= ol HlE 375 782 457 164 889
% 4222 88.0 51.4 18.4 200.0
- HIE 19 33 17 3 36
= - % 52.8 91.7 472 8.3 200.0
- HIE 126 237 95 50 254
% 49.6 93.3 37.4 19.7 200.0
HIE 83 147 55 33 159

Lo AHDH k5 HCH &k =
ST U % 52.2 925 34.6 20.8 200.0
o HIE 49 87 45 13 97

= S AHH }SHOHSH =
CECEEERE % 50.5 89.7 46 4 134 200.0
2510]| & 205t HIE 119 213 93 39 232
Z5HA Y % 51.3 91.8 40.1 16.8 200.0
2.5}0]| &2 IHCHEH HIE 48 102 63 19 116
S5t &AE % 41.4 87.9 54.3 16.4 200.0
- HIE 97 173 86 36 196
= % 495 88.3 439 18.4 200.0
HIE 51 103 58 20 116

A}S| IFSHCY S =
EERRL % 440 88.8 50.0 17.2 200.0
HE 46 75 35 14 85

Ated 374 NFSHCHSH =
I cERRE % 54.1 88.2 412 16.5 200.0
o HIE 14 23 13 2 26

A Ol TFCH S =
ol % 53.8 885 50.0 7.7 200.0
— B 9 18 9 2 19
oo % 47 .4 94.7 47 .4 10.5 200.0
HIE 10 15 3 2 15

O| IFCHEH =
Sl % 66.7 100.0 20.0 13.3 200.0
HIE 39 69 28 12 74

O| AHCH 7I+SFCHSH =
BCEERRE % 52.7 93.2 37.8 16.2 200.0
- HIE 72 128 62 28 145
s % 49.7 88.3 428 19.3 200.0
—— HIE 58 92 54 14 109
e % 53.2 84.4 495 12.8 200.0
— HIE 101 178 64 35 189
- % 53.4 94.2 339 18.5 200.0
AL Zate HIE 19 32 12 7 35
Q=AE % 54.3 91.4 34.3 20.0 200.0
Q2 2ste HIE 17 23 9 3 26
AAAE % 65.4 885 34.6 11.5 200.0
3 3 HIE 977 1,748 801 332 1,929
= % 50.6 90.6 415 17.2 200.0
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<E 47> AYMEY A| ZREPH| T2fSH %
@_T'_ Dil RH @DI’ _

= & e OEEHWO s | T oy | T g | iy

= B R iy 218 A1 B

gt 754

ot Wiz | 411 | 30| 158 | 252 | 26| 134 51 241,040
A i % | 395| 29| 152 | 242 | 25| 129 | 05| 231000
o= ot Wiz | 358 | 34| 170 | 157 | 16| 145 3 6| 889
% | 403 | 38| 191 177 | 18| 163 | 03| 07 |1000
I HT |12 4 71 10 3 36
- % 333 | 111 | 194 | 278 8.3 100.0
I Wiz | 88 8| 41| 66 8| 39 2 2| 254
eenn % 34.6 31 161 ] 260 31| 154 0.8 0.8 | 100.0
IR 7 33| 39 4] 18 2 1] 159
SUSBHINE | o | 346 | 44 208 | 245| 25| 13| 13| 06 |1000
_ o w= [ 30 3] 21| 19 3| 18 3| 97
SEUBUNUE | o | 300 | 34 216 | 196 31| 186 3.1 | 1000
Ssfol2 Zooet | g | 75 7 46| 67 71 25 5 232
25 % | 323 30 198| 289 | 30| 108 22 11000
Ssfol2 ZoTfet | WE | 58 4 21| 12 3| 14 4 16
Sato|aAS % | 500 34 181 | 103 | 26| 121 3.4 | 100.0
R Wiz | 132 2 13| 1 3| 33 2| 196
- % | 673 10 66| 56| 15| 168 10 | 100.0
o wiz | 54 4] 15| 2 21 19 16
ATl areroie % | 466 | 34 129| 190| 17| 164 100.0
- Tee [ 4] 20| 16 21 19 1 2| 85
chat HBESHSNE | o | o477 | 47 235 | 188 | 24| 224 | 12| 24 1000
B P HIE 7 4 1 11 3 26
- % 269 | 154 38 | 423 11.5 100.0
S = 4 2 3 9 1 19
% | 211 105 | 158 | 474 5.3 100.0
_ T 3 1 3 4 4 15
SlRroEy % | 200 67| 200 267 26.7 100.0
Wiz | 29 2 20| 13 1 9 74
BECRERE % | 392 27| 270 176 | 14| 122 100.0
o1 yar Wz | 71 41 19| 20 3| 25 3| 145
e % 490 28 | 131 | 138 21 | 172 2.1 [100.0
- Wiz | 44 1] 17| 21 2| 18 1 51 109
=SS % | 404 09| 156 | 193| 18| 165| 09 46 | 1000
— Wiz | 58 6| 38| 57 2| 2 1 3| 189
- % | 307 32| 201 302| 11| 127| 05 161000
A Qe wiz | 18 5 8 2 1 1 35
o2y % | 514 143 229 | 57| 29| 29 100.0
2 qHgate Wiz | 10 1 5 4 6 26
2pod A % | 385 38 192 | 154 23.1 100.0
o oIz | 769 | 64 | 328 | 409 | 42| 279 81 301929
% | 399 33| 170 | 212 | 22| 145| 04 16 |1000
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Joh
Jor

. %LH 11:| o 312 -
HE | W |Tqo | BY | o5 REAS VIE | HA
?_I%_!, _%_% ar =

HIE 569 | 107 95 43 29 | 178 19 | 1,040
. % 547 | 10.3 9.1 4.1 28 | 171 1.8 | 100.0
c= HlE 497 112 69 22 31 148 10 | 889
% 55.9 | 12.6 7.8 2.5 35| 166 1.1 | 100.0
HlE 29 1 3 3 36
% 80.6 2.8 8.3 8.3 100.0
I 155 4 31 13 9 40 2| 254
% 61.0 1.6 | 122 5.1 35| 157 0.8 | 100.0
HIE 78 22 10 10 4 34 1 159
% 491 | 138 6.3 6.3 25| 214 0.6 | 100.0
HIE 50 14 5 4 5 18 1 97
% 515 | 14.4 5.2 4.1 52 | 18.6 1.0 | 100.0
oI 130 27 26 7 5 35 2| 232
% 560 | 11.6 | 11.2 3.0 22 | 151 0.9 | 100.0
HIE 48 4 14 4 4 40 21 116
% 414 34 | 121 34 34 | 345 1.7 | 100.0
HIE 146 7 23 1 1 10 8| 196
% 74.5 3.6 117 0.5 0.5 5.1 4.1 | 100.0
oI 65 17 8 4 4 17 1 116
% 56.0 | 14.7 6.9 34 34 | 147 0.9 | 100.0
HlE 55 4 6 1 4 14 1 85
-, % 64.7 4.7 7.1 1.2 47 | 165 1.2 | 100.0
- o 12 8 1 2 2 1 26
% 462 | 308 38 7.7 7.7 3.8 | 100.0
HIE 17 1 1 19
% 89.5 5.3 5.3 100.0
HIE 13 1 1 15
% 86.7 6.7 6.7 100.0
oI 19 33 3 1 3 13 2 74
% 257 | 44.6 4.1 1.4 41 | 17.6 2.7 | 100.0
HlE 75 8 12 2 8 37 3| 145
% 51.7 5.5 8.3 1.4 55 | 255 2.1 | 100.0
HIE 34 33 8 3 5 22 4| 109
% 312 | 303 7.3 2.8 46 | 202 3.7 | 100.0
HE 113 29 10 9 2 25 1 189
% 59.8 | 15.3 5.3 48 1.1 132 0.5 | 100.0
HlE 14 5 3 2 1 10 35
% 400 | 143 8.6 5.7 29 | 286 100.0
o 13 2 1 2 8 26
% 50.0 7.7 38 77 | 308 100.0
HIE 1,066 | 219 | 164 65 60 | 326 29 | 1,929
% 55.3 | 11.4 8.5 34 31| 169 1.5 | 100.0
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<H 49> HYS Holf F=H5IL 42
Fo
2o | o o [ztA= =0 B
T o= 55| 34 o se UBY G5 | gg | 1% | @A
3%

ot T 468 | 180 | 33| 270] 51 12 8| 18 1,040
e = % | 450 | 173 | 32| 260| 49| 12| 08| 17 |1000
o= ot HIE 324 | 180 | 46| 229 | 85| 12 13| 889
% | 364|202 | 52| 258 96| 13 15 100.0
N b 21 7 2 3 2 1 36
= I % 583 | 194 5.6 8.3 5.6 2.8 100.0
S HIE 68 | 52| 18| 87| 21 4 1 3| 254
ce i % 268 | 205 | 7.1 | 343 | 83 16| 04| 12 /1000
oy | OE 54| 36 6| 52 9 2 | 159
ewecemmAA % 340 | 226 | 38| 327 | 57 1.3 [100.0
- b T 23| 28 4] 3] 1 97
S I % 237 | 289 | 41| 320 | 113 100.0
2502 ZatopEF | BT 86 | 47 4 75| 12 5 1 2 | 232
SAE % 37.1 | 203 1.7 | 323 5.2 2.2 0.4 0.9 |100.0
o505 2atTsF | BT 2 20 5 27 15 3 4 16
250 a7 % 362 | 172 | 43| 233 | 129 | 26 3.4 100.0
A HIE 167 | 13 2 8 2 4 196
= % 852 | 66| 10| 41 10| 20 |1000
o b T 36 | 29 5| 31 8 3 4] 16
Arel 2o % 310 | 250 | 43| 267 | 69| 26 3.4 100.0
o T 2| 21 1] 35 6 85
et trogg s % 259 | 247 | 12| 412| 71 100.0
= ] T 18 2 1 2 2 11 26
ol % 692 | 77| 38| 77| 77 38 100.0
— HIE 12 2 2 2 11 19
- % 632 | 105 105 | 105 5.3 100.0
_ = 1 2 2 15
A= % 733 | 133 133 100.0
- = 29 | 21 1 9 | 11 1 1 1] 74
g arerHe! % 392 | 284 14| 122|149 | 14 14| 141000
R = 36| 25| 20| 50 8 2 1 3| 145
el % 248 | 172 | 138 | 345 | 55| 14| 07| 2.1 /1000
BV BT 2 21 5 27 8 2 4 109
CAEHE % 385 | 193 | 46 | 248 | 73| 18 37 1100.0
— T 103 | 24 3] 38| 16 2 1 2 | 189
= % 545 | 127 | 16| 201 | 85| 11| 05| 1.1 /1000
2oz Zare HIE 10 6 1] 14 3 1 35
olmH g % 286 | 171 | 29| 400 | 86 | 29 100.0
29 2 T 12 4 1 8 1 26
244 7 & % 462 | 154 | 38| 308 38 100.0
3 T 792 | 360 | 79 | 499 | 136 | 24 8 31 1929
= % M1 187 41259 | 71| 12| 04| 161000
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<H 50 > =3t 3kgE Wollst= 8¢9l
=5t I\ 7t A | AR R | HTFAF
02 | HZst|Antex ZHE =0 SRS S | -
+ o2 S a5 @8 | mw me | ea | 0T 2
ue

Lt Wi | 510 | 151 | 218 | 50| 28| 12| 31| 14| 261,040
o i % | 490 | 145 | 210 48 27| 12| 30| 13| 25 1000
o= ot W | 475 | 134 | 168 | 57 9 4 2 9 12| 889
% | 534 | 151 | 189 | 64| 10| 04| 24| 10| 13 ]1000
- HE |19 5 9 1 1 1] 36
% | 528 | 139 | 250 28 28 | 28 /1000
S Wi | 138 | 34| 52 16 2 3 4 2 3| 254
eenn % | 543 | 134 | 205| 63| 08| 12| 16| 08| 12 ]1000
e | 80| 23| 36 9 4 7 159
SHUBBUSNHN o | 503 | 145 | 226 | 57| 25 44 100.0
ez | 28| 18| 21 5 3 2| 97
SELBUHU "o | 4o5 | 184 | 216 | 52 3.1 2.1 1100.0
osfols 2atgsl wIe | 118 | 37 | 43 9 9 2 5 4 5| 232
237 % | 509|159 | 185 39| 39| 09| 22| 17| 22 1000
Ssfola-Zache YT | 61 | 20| 16 8 3 1 4 3 116
o e % | 526|172 138 69| 26| 09| 34| 26 100.0
R W | 92 | 26| 36| 21 5 3 5 1 7 | 19
- % | 469 | 13.3 | 184 | 10.7 2.6 15| 26| 05| 3.6 (1000
selmerge | UE | 48] 7 2 9 1 1 4 7 4] 116
% | 414|147 | 216 78| 09| 09| 34| 60| 34 1000
wemmmens DE | 45| 1415 6 2 1 1 1 85
chat s T % | 529 | 165 | 176 | 7.1 24 1.2 1.2 1.2 [100.0
B _ WE | 12 2 7 3 1 1 26
oA % | 462 | 77| 209 | 115| 38| 38 100.0
S HIE 8 2 4 3 1 1119
T % | 421 | 105 | 211 | 158 5.3 5.3 |100.0
_ T 7 5 1 1 1 15
Slareher % | 467 333 | 67| 67 6.7 100.0
ez | aa| 14 9 2 1 2 2| 74
SBBARH | o | 55 | 189 | 122 | 27| 14 2.7 27 11000
ol st Wi | 87 | 20| 29 4 3 1 1| 145
R % | 600 | 138 | 200 | 28 21| 07| 07 /1000
gomers | D= | 55| 15 2 4 2 1 5 1 4] 109
= % | 505| 138 | 202 | 37| 18| 09| 46| 09| 37 1000
B W | 90 | 29| 43 7 4 2 7 1 6| 189
B % | 476|153 | 228 | 37| 21| 11| 37| 05| 32 1000
oM BatE | HIZ | 19 4 8 2 1 1] 35
QZAE % 543 | 114 | 229 5.7 2.9 2.9 |100.0
AfoMzate | WE | 14 5 6 1 26
244 7| % | 538 | 192 | 231 38 100.0
A Wi | 985 | 285 | 386 | 107 | 37| 16| 52| 23| 381929
% | 511 | 148 | 200 55| 19| 08| 27| 12| 20 1000
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St atg £ A
=
9% 3 Az |uae | mS HEE BN L g,
3 = £7) | 23 | e |23 o I T IR SO R T R CE
sof | wy | we | 20 G | we | wy
%}'ﬂ = od
ot W | 264 | 162 | 177 | 67 61 | 130 | 20 | 11| 1,040
A % |254 156|170 | 64 59 125 | 19| 11| 1000
c= otz Hl 145 | 122 | 138 | 29 82 | 122 11 8 889
% |163 /137 155 | 33 92 137 | 12| 09 | 1000
N T 6| 7] 6 3] 61 2 1 36
= % 1167|194 167 83167 | 56| 28| 1000
I = 68| 30| 35| 10 2 271 3| 3 254
ee % 268 | 118 | 138 | 3.9 87 106 | 12| 12 100.0
| ug 45 9] 26| 11 2] 26| 3| 1 159
EECEERR % 283 | 57 164 | 69 75 164 | 19| 06 | 1000
_ [ ug 20 9] 19| 3 THERE 1 97
ST % | 206 | 93196 | 31 113|113 10 | 1000
Sato2 2ot | MIE 40 | 40| 48| 13 23| 30| 5| 1 232
ZstAS % 172|172 207 | 56 99 129 | 22| 04| 1000
S5f0|2 ZatofEf | HIE 27| 18| 17| 5 71 17 1 1 116
=2t =AE % 233 | 155 | 147 | 43 60| 147 | 09 | 09 100.0
eyt HIG 3% | 40| 25| 7 61 27| 4] 4 196
- % 179 | 204 | 128 | 36 82 138 | 20| 20| 1000
o HIE 15| 20| 23| 9 3] 19| 3 116
Areldreree % | 129 172 | 198 | 78 26 164 | 26 100.0
wemamse | B 14 10| 14| 12 5 13 85
. = o % 165 | 11.8 | 16.5 | 14.1 59 1153 100.0
= ] HIE 4] 7. 3 3 2| 1 26
e % 154|269 115 15 77 | 38| 1000
— HIC 6| 4 1 19
Rl % | 316 211 5.3 100.0
_ T 2 1] 3 4 2 1 15
<= % 133 | 67 200 267 | 133 67 | 1000
_ = M 11| 23] 1 4 4 1 74
S % 149 149 | 311 | 14 54| 54| 14 100.0
oyat HIC 39 | 16| 18| 7 o 17| 1] 2 145
== % 269 110|124 | 48 69 117 | 07| 14| 1000
- HIC 17 20| 18| 7 6| 13| 2 109
- % | 156 183|165 | 64 55 119 | 18 100.0
— T a4 | 33| 26| 8 10 33| 3| 2 189
= % 233|175 138 | 42 53 175 | 16| 11| 1000
eI HIE M| 6| 3| 2 2 2 1 35
=AE % 314 | 171 | 86 | 57 57 | 5.7 2.9 100.0
HZe e Bl 5 3 8 1 2 4 1 26
7| % 192 115|308 | 38 77 1154 | 38 100.0
A oI | 409 | 284 | 315 | 96 143 | 252 | 31| 19 | 1929
% 212|147 163 | 50 74 1131 | 16| 10| 1000
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<E 52> M55H= SiEHO| W8 m2 JaM
o | AR | BEAH U= Y . - - .
=+ = YR | uie | mog | oas | OS2 | RERY | UEY ) VIR HAH
Lt T 289 | 141 | 166 | 114 29 | 129 | 167 5 | 1,040
. % 278 | 136 | 160 | 110 | 28| 124 | 161 | 05 | 100.0
c= of 3t HI T 236 | 124 65 | 130 34 | 111 | 187 2| 889
% 265 | 139 | 73| 146 | 38| 125 | 210 | 0.2 | 100.0
— HI & 9 3 3 6 5 9 1 36
% 250 | 83| 83| 167 13.9 | 250 | 2.8 | 100.0
S HI T 71 33 34 33 8 33 42 254
eenn % 280 | 130 | 134 | 130 | 3.1 | 130 | 165 100.0
HI T 39 16 23 26 6 11 37 1 159
SLCERRR % 245 | 101 | 145 | 164 | 38| 69| 233 | 06 | 100.0
HI T 19 15 13 18 4 12 16 97
SE A % 19.6 | 155 | 134 | 186 | 4.1 | 124 | 165 100.0
2510)| & ZIHCY & Hl T 53 42 39 30 9 25 34 232
SAE % 228 | 181 | 168 | 129 | 39| 108 | 147 100.0
250|425} Hl T 25 23 12 15 7 14 20 116
=30 =2 % 216 | 198 | 103 | 129 | 60| 121 | 17.2 100.0
- HI T 52 12 25 23 7 32 45 196
% 265 | 6.1 | 128 | 117 | 3.6 | 163 | 230 100.0
J— HI T 35 15 15 8 5 15 22 1 116
% 302 | 129 | 129 | 69| 43| 129 | 190 | 09 | 100.0
JE—— HI T 30 12 6 9 6 10 12 85
st % 353 | 14.1 711106 | 7.1 | 11.8 | 14.1 100.0
- pes—— Hl T 9 3 3 2 3 5 1 26
% 346 | 115 | 115 | 7.7 115 | 192 | 3.8 | 1000
S HI T 3 4 1 4 1 2 4 19
oo % 158 | 211 | 53| 211 | 53| 105 | 211 100.0
o|tcyat HlT 8 2 1 2 2 15
B % 533 | 133 | 6.7 13.3 | 133 100.0
ooy st st HI T 20 5 8 17 2 7 13 2 74
o % 270 | 68| 108 | 230 | 27| 95| 176 | 2.7 | 100.0
o=yt T 45 16 14 15 3 17 34 1 145
s % 310 | 110 | 97| 103 | 21| 11.7 | 234 | 0.7 | 100.0
— HI T 33 10 11 11 2 19 23 109
% 303 | 9.2 | 101 | 10.1 18 | 17.4 | 211 100.0
R—_— HI T 55 48 18 17 2 23 26 189
- % 291 | 254 | 95| 90 1.1 122 | 138 100.0
Ao Zste HIE 15 3 4 3 4 6 35
AUZAE % 429 86 | 114 8.6 1.4 | 171 100.0
At Zste HlE 4 3 1 7 1 6 4 26
AHA L % 154 | 115 | 38| 269 | 38| 231 | 154 100.0
21 3 HI T 525 | 265 | 231 | 244 63 | 240 | 354 7 11,929
% 272 | 13.7 | 120 | 126 | 33| 124 | 184 | 0.4 | 100.0
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